
qm ;+ ljBfnosf] gfd 7]ufgf afn lzIff 
sIff ;+Vof

ljBfno 
sd{rf/L 
;+Vof

afn lzIff lzIfs 
yk kfl/>lds 
>fj0fb]lv sflt{s / 
rf8kj{ vr{ 

ljBfno sd{rf/L yk 
kfl/>lds >fj0fb]lv 
sflt{s / rf8kj{ 
vr{ 

hDdf lgsf;f ?=

1 cfbz{ ljBf dlGb/ df=lj= sgsfO{ g=kf= 2 2 40000 40000 80000

2 kz'klt k|f=lj=  sgsfO{ g=kf= 1 1 20000 20000 40000

3 ;/:jtL df=lj= sgsfO{ g=kf= 2 2 40000 40000 80000

4 e[s'6L df=lj= sgsfO{ g=kf= 2 2 40000 40000 80000

5 lxdfnL cf=lj= sgsfO{ g=kf= 4 2 110000 40000 150000

6 rDkfk'/ df=lj= sgsfO{ g=kf= 1 2 20000 40000 60000

7 sgsfO{ ufoqL k|f=lj= sgsfO{ g=kf= 4 1 140000 20000 160000

8 sgsfO{ df=lj= sgsfO{ g=kf= 3 2 90000 40000 130000

9 hfgsL cf=lj= sgsfO{ g=kf= 1 1 20000 20000 40000

10 b]jsf]6f k|f=lj= sgsfO{ g=kf= 1 1 20000 20000 40000

11 l;+xb]jL cf=lj=   sgsfO{ g=kf= 2 1 40000 20000 60000

12 hgr]tgf cf=lj= sgsfO{ g=kf= 2 1 40000 20000 60000

13 eujtL cf=lj= sgsfO{ g=kf= 2 1 40000 20000 60000

14 k~rsGof k|f=lj= sgsfO{ g=kf= 1 1 20000 20000 40000

hDdf 28 20 680000 400000 1080000

sgsfO{ gu/kflnsf

gu/ sfo{kflnsfsf] sfof{no
lzIff,o'jf tyf v]ns'b zfvf

gu/ lzIffsf] ah]6 l;=g+=! af6 cg'bfg cf=j=@)&&.)&*c;f]h


